She
Answer:

B2

her 15th birthday next week.

He

Answer:

15 years old last month.

They
Answer:

15 candles on the cake.

We

Answer:

to celebrate her 15th birthday.

You

Answer:

turning 15 soon.

Answer:

15 years old today.

The party
Answer:

for her 15th birthday.

We

Answer:

invited to her 15th birthday party.

She
Answer:

her 15th birthday with friends.

He

Answer:

a gift for her 15th birthday.




Answers

She her 15th birthday next week.

Answer: will celebrate

He 15 years old last month.

Answer: turned

They 15 candles on the cake.

Answer: blew

We to celebrate her 15th birthday.

Answer: are going

You turning 15 soon.

Answer: will be

I 15 years old today.
Answer: am

The party for her 15th birthday.

Answer: was

We invited to her 15th birthday party.

Answer: have been

She her 15th birthday with friends.

Answer: celebrated

He a gift for her 15th birthday.

Answer: bought



